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~ .. ~ ~ q;r iTrR J#vft liT f6rcft (1);-fft VCfi 'lfTW 1T ~· ~ "ff'lft lfflit q;r 1f(E:ll11 VCfi tt fflr 

TlTfffq I 
Attempt all questions. 
"ff'lit JrFit 1/i iTrR ~I 

Section-A 
.~-31 

Q 1. Write a short note on the relation between truth and validity? 
~~<5~-cR~~~~? 

3 

Q2. What is a term? Explain the relationship between the connotation and the denotation 
of a term with example. 3 
lfG" <fliT ~? ~ lfG" <A ~ 3lR <pr c5 ~ ~ tJ)cm:;xol ~ ~ 1 

Q3. Distinguish between a proposition and a sentence. 3 
~ crr<flf 3JR ~ a$C11Cfl01 1)' fcMG *'ftr~ I 

Q4. Explain with example the traditional square of opposition of propositions. 4 
ctc6CII<t~)· ~ 41~4R41 fcRTtr wf ~ tJ)cmsxol ~ ~ 1 

Q5. What do you understand by existential import? How does it affect the traditional 
square of opposition of propositions? 4 
'fh1ii;iictl ~ ~ 3Wl <fliT~~? -4 ~ Wl'R C1<6CIICf~l c5 41~4Rct> ~ wf q;l W1Tfcffi CIRm 

~? 

Q.6. (a) Rewrite any four of the following in their logical form: 
P!t<Jfc;tR!Ja 1)' ~ ~ -:erR em ~ ~ m -q 4RC!Rld ~: 

, 1. All good writers are not good speakers. 
~ ~ ~ ~ CfCffiT <r6f ~I 

11. A lion will never eat grass. 
~ -m ri 1ft "ElTfT ~ ~~ 

111. Only children are allowed to play in the park. 
~~fr~l)'~cnr~-gl 

4 



iv. Snakes are poisonous. 
"fliq ~ tl 

v. Few students are disciplined. 
~ ift ~ 3!j!tll~d ~I 

(b) Write the converse and obverse of any two of the following: 
Plkir&~a -q ~ ~ m "cff ~ om ~RJqct'1 ~: 

1. All logicians are mathematicians. 
~d$!tll~~tl 

11. Some sodiers are not officers. 
~~~"fiff~l 

iii. Some athletes are professionals. 
~~~tl 

Q7. If 'No scientists are philosophers' is given as true, determine the truth/ falsity of the 
following: 4 

1. No non-philosophers are scientists. 
~ 3l d~!tll~ ~$11Ptct> ;:ffil ~I 

11. All non-scientists are non-philosophers. 
~ 3l a$11Ptct> 31 ~l!tfPICI'> ~ 1 

Q8. Test the validity I invalidity of the following syllogism: 
Ptkir&rt!Cl ;=qJ;qgfckl cff ~;3rtltRrr CfiT ~arur ~: 

6 

1. Some investors are not economists, for some traders are investors, and no economists 
are traders. 
~ ~ ~ '1iff g, ~ ~~ ~t 3ftx~ ~ ~ '1iff ~I 

OR/ 3!2TQT 

ii. Some players are graduates, so some scientists are players, since all scientists are 
graduates. 
~ ~ ~ ~. 3ffi: ~ a$11PtCI'> ~ g. ~ ~ ~$11Ptct> ~ t, 

Q.9. Test the validity/ invalidity of any two of the following: 
· Ptkir&rtla -q ~ ~ w cfi m I 3lClmrr CfiT ~arur ~: 

1) AEE-1 
2) EAE- 2 
3) All- 4 
4) EI0-3 

2 
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Q. 10. Prove that the minor premise must be affirmative in the first figure. 
~ ~ fcp ~~ ~ it <'1~ql<ffl ~ 5);rr ~ t I 

4 

OR/~ 

In what mood or moods, if any, can a valid standard-form categorical syllogism have 
only one term distributed and that twice. 
~ .~ <:IT ~ it ~ ~ m ~ ~ ;:q(qgf«t ~ ~ ~ 61 trG cz:rrt{f mar t 
3tR ~ trG crr 61R ~ m-m t-1 

Section-B 
~-'ij 

Q.ll. Explain and illustrate the following informal fallacies: 
~""l~ltid a!~~4t.IIRCfl ~ ~ 't1~GI6xur 'ClfRSm ~: 

(4X5) 

1. Complex Question 
UB~ 

ii. Argument Ad Ignoratium 
31$H1C1Cfl ~ 

111. False Cause 
~~ 

lV. Fallacy of accident 
~lffUT~ 

Q.12. Identify and explain any two of the following fallacies: 
~""l~rtrd it ~ cn ~ em 46ilrPtq 3lR ~ ~: 

(5X2) 

1. In recent studies researchers have shown that women have more accurate intuition 
than men do. The reason cited is that men's intuition is more often mistaken. 
~ ~ ~ it ~31T -;f ~ fcmrr t fcl; ~3IT ~ 3ffi:~ ~ $T 3lcr:~ ~ ~ 
~ M t 1 ~ ~ cet 3Rl:~ 31cffR 1JC1cJ m \iTTCfr t 1 

u. Tanu has really worked hard on this project and she will be really depressed if she 
doesn't get an A grade. For this reason you just have to give her an A grade on this 
project. 
~ -;f ~ ~ 'R. ~ ~ cCl t Cfl!.lT ~ CfffiT<l' it ~ mJfi <lfG \Nl A ~ 'Tift IDTff 

tmrr t I 31Cf: 3Wfclll ~ ~ ~ tR A ~ ~ tr Nrrr I 

111. Unless you back up my story and tell the committee I am reasoning logically, I 
will do everything in my power to see that you are fired. 
~ 31l1:f ~ ~ cpf ~ ~ cpffi-~ ~ ~ -4 ~ ~ fcl; l{ ~ t l{ 3l'CAT 
~ cpf 11'~ m q;-WJi frl> 3Wfclll ~ ~ ~ ~ 1 

iv. Water extinguishes fire. Oxygen is part of water. Therefore Oxygen will 
extinguish fire. . 
1fR'r ~ cpr VflFf ~ ~ t I a!tCffi~\i11 qrft cpr 3W t I 3RT: 31tffl\i11 ~ CIJT ~ 'fR' 

trrrl 
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